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Using Real World Tables & Graphs                   High School Common Core: Modeling Functions
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Pd:____                 Date:__________











Exam Questions (Use calculator)





2. Which of the following equations represents the relationship between Fahrenheit temperature F and Celsius temperature C according to the following data chart?								


Celsius (C)�
0�
30�
100�
�
Fahrenheit (F)�
32�
86�
212�
�












A)  F = 32C + 1.8


B)  C = 1.8F + 32


C)  F = 1.8C + 32


D)  C = 32F + 1.8








1.  Christine is buying a picture package from Fabulous Photos.  



































What is the rate of change?





$0.75 per picture	B)  $2 per picture





$3 per picture		D) $4 per picture








Number of pictures 








       20





Total Cost         ($)








�





         100





       80





       60





       40





   0      5     10    15    20     25








4.  Laura rents a scooter.  The pricing is listed in 


the given table. 





The equation for the given table                                                           is y = 50x + 250.





If Laura spends $850, how


many hours did she rent the                                                                           scooter?





A)  12 hours 


B)  650 hours


C)   3.2 hours


D)  267 hours








3.  Malachi works out on a stair-stepping machine.





 If he has burned


      	250 calories, how long


      	has he been on the 


      	stair-stepper?


					





				








B)  If Malachi is on the stair-stepper for 90 minutes what will be the amount of total calories burned?




















Hours renting�
Total Cost ($)�
�
0�
$250�
�
2�
$350�
�
4�
$450�
�
6�
$550�
�






Minutes on the stair stepper�
Total Calories Burned �
�
0�
0�
�
30�
250�
�
60�
500�
�
90�
750�
�






5.  Paul brought a bag of gum to school and handed out pieces of gum to his friends.




















What is TRUE about the given table?





A)  He started with 0 pieces of gum.				B)   The rate of change is -2 friends per piece of gum.





C)  The rate of change is 2 pieces of gum per friend.		D) After giving gum away to 25 friends, he runs out.





Number of friends �
0�
5�
10�
15�
20�
25�
�
Pieces of gum left�
50�
40�
30�
20�
10�
0�
�






7.  The owner of Mele’s Malasadas makes a huge batch of malasadas in the morning and as the day goes by customers come in to buy them.  She records in the table the amount of malasadas remaining in the shop as customers come in to purchase them.




















A)   Write an equation that describes the relationship between the number of customers and the amount malasadas remaining.




















B)  If there are only 150 malasadas left, how many customers have visited the shop?











6.  Roberto has a credit card that he uses to shop.






































Given the graph above which of the following statements is FALSE?





A)  In 16 weeks, Roberto owes $1500 on his credit card.


B)  At 0 weeks, he owes $500 on his credit card.


C)  If Roberto owes $1000, then he has used his credit card for 4 weeks.


D) The rate of change has units dollars per week.


 








Number of customers �
6�
12�
18�
24�
30�
36�
�
Total malasadas �
564�
528�
492�
456�
420�
384�
�






        Number of weeks 





      2500





  2000





  1500





  1000





    500





 0       4      8     12    16    20








�





Amount on credit card ($) 





8.  The cost of buying different amounts of blank DVDs is shown in the table below.  





























What does the rate of change represent?





A)  Price per DVD 


B)  Total price of DVDs purchased


C)  Total number of DVDs purchased


D)  Number of DVDs per price






































Number of DVDs�
Price ($)�
�
10�
2.50�
�
15�
3.75�
�
20�
4.25�
�
25�
5.00�
�






10.  Jack goes to Las Vegas and starts gambling.       









































Which represents the slope of the line?





A)  -$40 per hour	B)  -$50 per hour. 





C) $40 per hour	D)  $50 per hour.








     Time (hours)








        500





    400





    300





    200





    100





  0      2     4      6      8     10








Jack’s amount of money ($)








�





9.  Jimmie runs a game at the Spring Time Carnival.  





A) What does the y-intercept represent?


 











B) What does the x-intercept represent?








Number games played�
Number of prizes left�
�
0�
200�
�
20�
125�
�
40�
75�
�
60�
0�
�






11.  Students in a science class recorded lengths of a stretched spring, as shown in the table below.  





Distance Stretched, x (cm)�
Weight, y (Newtons)�
�
0�
0�
�
2�
10�
�
4�
20�
�
7�
35�
�
9�
45�
�
10�
50�
�



Which equation best describes the relationship between distance stretched, x, and the weight on the spring, y?





A)  y = -5x


B)  y = x + 5 


C)  y = 5x2


D)  y = 5x





 














12.  Ron owns a store that sells fish and sells them by the pound.






































A)  If there were 20 customers, how many pounds of fish are left?








B)  If there are 500 lbs of fish left in the store, how many customers were there?





C)  What does the y-intercept mean?











D)  What is the rate of change?








           Number of customers 





       1000





    800





     600





     400





     200





     10     20    30    40   50





Number  of pounds in the store (lbs)





�





14.  Chad drives home for Christmas.






































For the given graph, which of the following statements is TRUE?





A) In 4 hours Chad has 400 miles left to drive.





B)  Rate of change is in hours per mile.





C)  At 10 hours, he has 0 miles left to drive.





D)  At 0 miles, he has driven 500 hours.





13.  Brandon delivers newspapers in the morning.





What is the rate of change?





A)  6 books per person


B)  6 people per book	


C)   2 books per person


D)  2 people per book	





Hours driving





        500





    400





    300





    200





    100





 0       2      4      6       8    10








Distance left to drive (miles)





�





Number of people �
Number of books checked out�
�
25�
150�
�
50�
300�
�
75�
450�
�
100�
600�
�






15.  Betty’s grade in science class is affected by the number of missing assignments.  The table below shows the science grade percentage for a given number of missing assignment





Number of missing assignments�
3�
5�
7�
9�
�
Science grade %�
80�
70�
60�
50�
�



The equation for the given table is y = -5x + 95.  If Betty is missing 15 assignments, what’s the percentage of her grade in science class?





A)  16%


B)  20%


C)  10%


D)  15%








16.  The owner of a bookstore recorded the following information from last week.




















Which equation describes the relationship between the number of customers and the amount of sales?





A)  s = 6c + 30	 	


B)  s = c + 30	   	 


C)  s = 5c + 20         	 


D)  s = 6c + 8 








17.  Seniors must reserve seats at graduation for their family members who plan on attending the ceremony.






































What is the rate of change?





A)  3 seniors per reserved seat


B)  3 reserved seats per senior


C)  2 seniors per reserved seat


D)  2 reserved seats per senior.








Number of Customers, c�
12�
18�
24�
30�
36�
42�
�
Amount of Sales, s�
80�
110�
140�
170�
200�
230�
�






    100





           80





              60





            40





        20





      10    20    30    40   50   





Number of seats reserved





�





Number of seniors





18. Casey wants to start a garden.





A) If Casey buys 9 plants 


how much was spent on


gardening supplies?











B)  How many plants can 


Casey get if her total budget 


is $60 for gardening supplies?





     Number of plants bought 





         100





      80





       60





       40





       20





       3     6      9     12     15





Total cost of garden supplies (S) 





�





20.  Brian works for a caterer who prepares and serves barbecued beef.  The amount of beef is prepared according to the following table.
































Based on the pattern in the table, 


how many pounds of beef should 


be prepared for 225 guests?





A)  182 lbs 	


B)  283.25 lbs     


C) 452 lbs      


 D) 225 lbs








BARBECUED BEEF PLANNING CHART


Number of Guests �
Pounds of Beef�
�
0�
2�
�
5�
6�
�
10�
10�
�
15�
14�
�






19.  Brandon delivers newspapers in the morning





Number of blocks traveled�
Number of newspapers left�
�
0�
50�
�
2�
40�
�
4�
30�
�
6�
20�
�






A)  If Brandon has 20 newspapers left, how many blocks has he traveled.











B)  If he travels 2 blocks, how many newspapers will be left?








C) What does y-intercept mean?











D) What is the rate of change? 
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Exam Questions (Use calculator)





2. Which of the following equations represents the relationship between Fahrenheit temperature F and Celsius temperature C according to the following data chart?								


Celsius (C)�
0�
30�
100�
�
Fahrenheit (F)�
32�
86�
212�
�












F = 32C + 1.8


C = 1.8F + 32


F = 1.8C + 32


C = 32F + 1.8








1.  Christine is buying a picture package from Fabulous Photos.  



































What is the rate of change?





$0.75 per picture	B)  $2 per picture





$3  per picture	D) $4 per picture








Number of pictures 








       20





Total Cost         ($)








�





         100





       80





       60





       40





   0      5     10    15    20     25








4.  Laura rents a scooter.  The pricing is listed in 


the given table. 





The equation for the given table                                                           is y = 50x + 250.





If Laura spends $850, how


many hours did she rent the                                                                           scooter?





A)  12 hours 


B)  650 hours


B)  3.2 hours


D)  267 hours








3.  Malachi works out on a stair stepping machine.





 If he has burned


      	250 calories, how long


      	has he been on the 


      	stair stepper?


					





				30 minutes








B)  If Malachi is on the stair-stepper for 90 minutes what will be the amount of total calories burned?





750 calories

















Hours renting�
Total Cost ($)�
�
0�
$250�
�
2�
$350�
�
4�
$450�
�
6�
$550�
�






Minutes on the stair stepper�
Total Calories Burned �
�
0�
0�
�
30�
250�
�
60�
500�
�
90�
750�
�






5.  Paul brought a bag of gum to school and handed out pieces of gum to his friends.




















What is TRUE about the given table?





A)  He started with 0 pieces of gum.				B)   The rate of change is -2 friends per piece of gum.





C)  The rate of change is 2 pieces of gum per friend.		D) After giving gum away to 25 friends, he runs out.





Number of friends �
0�
5�
10�
15�
20�
25�
�
Pieces of gum left�
50�
40�
30�
20�
10�
0�
�






7.  The owner of Mele’s Malasadas makes a huge batch of malasadas in the morning and as the day goes by customers come in to buy them.  She records in the table the amount of malasadas remaining in the shop as customers come in to purchase them.




















A)   Write an equation that describes the relationship between the number of customers and the amount malasadas remaining.





Y = -6x + 600

















B)  If there are only 150 malasadas left, how many customers have visited the shop?





75 customers








6.  Roberto has a credit card that he uses to shop.






































Given the graph above which of the following statements is FALSE?





A)  In 16 weeks, Roberto owes $1500 on his credit card.


B)  At 0 weeks, he owes $500 on his credit card.


C)  If Roberto owes $1000, then he has used his credit card for 4 weeks.


D) The rate of change has units dollars per week.


 








Number of customers �
6�
12�
18�
24�
30�
36�
�
Total malasadas �
564�
528�
492�
456�
420�
384�
�






        Number of weeks 





      2500





  2000





  1500





  1000





    500





 0       4      8     12    16    20








�





Amount on credit card ($) 





8.  The cost of buying different amounts of blank DVDs is shown in the table below.  


























9


What does the rate of change represent?





A)  Price per DVD 


B)  Total price of DVDs purchased


C)  Total number of DVDs purchased


D)  Number of DVDs per price






































Number of DVDs�
Price ($)�
�
10�
2.50�
�
15�
3.75�
�
20�
4.25�
�
25�
5.00�
�






10.  Jack goes to Las Vegas and starts gambling.       









































Which represents the slope of the line?





A)  -$40 per hour	B)  -$50 per hour. 





C) $40 per hour	D)  $50 per hour.








     Time (hours)








        500





    400





    300





    200





    100





  0      2     4      6      8     10








Jack’s amount of money ($)








�





9.  Jimmie runs a game at the Spring Time Carnival.  





A) What does the y-intercept represent?


 


Jimmie starts with 200 prizes.








B) What does the x-intercept represent?





After 60 games he will run out of prizes.





Number games played�
Number of prizes left�
�
0�
200�
�
20�
125�
�
40�
75�
�
60�
0�
�






11.  Students in a science class recorded lengths of a stretched spring, as shown in the table below.  





Distance Stretched, x (cm)�
Weight, y (Newtons)�
�
0�
0�
�
2�
10�
�
4�
20�
�
7�
35�
�
9�
45�
�
10�
50�
�



Which equation best describes the relationship between distance stretched, x, and the weight on the spring, y?





y = -5x


y = x + 5 


y = 5x2


y = 5x





 














12.  Ron owns a store that sells fish and sells them by the pound.






































A)  If there were 20 customers, how many pounds of fish are left?


800 lbs of fish





B)  If there are 500 lbs of fish left in the store, how many customers were there?  50 customers





C)  What does the y-intercept mean?


Ron started with 1000 pounds of fish.








D)  What is the rate of change?


-10 pounds of fish per customer








           Number of customers 





       1000





    800





     600





     400





     200





     10     20    30    40   50





Number  of pounds in the store (lbs)





�





14.  Chad drives home for Christmas.






































For the given graph, which of the following statements is TRUE?





A) In 4 hours Chad has 400 miles left to drive.





B)  Rate of change is in hours per mile.





C)  At 10 hours, he has 0 miles left to drive.





D)  At 0 miles, he has driven 500 hours.





13.  Brandon delivers newspapers in the morning.





What is the rate of change?





A)  6 books per person


B)  6 people per book	


C)   2 books per person


D)  2 people per book	





Hours driving





        500





    400





    300





    200





    100





 0       2      4      6       8    10








Distance left to drive (miles)





�





Number of people �
Number of books checked out�
�
25�
150�
�
50�
300�
�
75�
450�
�
100�
600�
�






15.  Betty’s grade in science class is affected by the number of missing assignments.  The table below shows the science grade percentage for a given number of missing assignment	        





Number of missing assignments�
3�
5�
7�
9�
�
Science grade %�
80�
70�
60�
50�
�



The equation for the given table is y = -5x + 95.  If Betty is missing 15 assignments, what’s the percentage of her grade in science class?





A)  16%


B)  20%


C)  10%


D)  15%








16.  The owner of a bookstore recorded the following information from last week.




















Which equation describes the relationship between the number of customers and the amount of sales?





A)  s = 6c + 30	 	


B)  s = c + 30	   	 


C)  s = 5c + 20         	 


D)  s = 6c + 8 








17.  Seniors must reserve seats at graduation for their family members who plan on attending the ceremony.






































What is the rate of change?





A)  3 seniors per reserved seat


B)  3 reserved seats per senior


C)  2 seniors per reserved seat


D)  2 reserved seats per senior.








Number of Customers, c�
12�
18�
24�
30�
36�
42�
�
Amount of Sales, s�
80�
110�
140�
170�
200�
230�
�






    100





           80





              60





            40





        20





      10    20    30    40   50   





Number of seats reserved





�





Number of seniors





18. Casey wants to start a garden.





A) If Casey buys 9 plants 


how much was spent on


gardening supplies?


$70








B)  How many plants can 


Casey get if her total budget 


is $60 for gardening supplies?


6 plants





     Number of plants bought 





         100





      80





       60





       40





       20





       3     6      9     12     15





Total cost of garden supplies (S) 





�





20.  Brian works for a caterer who prepares and serves barbecued beef.  The amount of beef is prepared according to the following table.
































Based on the pattern in the table, 


how many pounds of beef should 


be prepared for 225 guests?





A)  182 lbs 	


B)  283.25 lbs     


C) 452 lbs      


 D) 225 lbs








BARBECUED BEEF PLANNING CHART


Number of Guests �
Pounds of Beef�
�
0�
2�
�
5�
6�
�
10�
10�
�
15�
14�
�






19.  Brandon delivers newspapers in the morning





Number of blocks traveled�
Number of newspapers left�
�
0�
50�
�
2�
40�
�
4�
30�
�
6�
20�
�






C) What does y-intercept mean?


Brandon starts with 50 newspapers.








D) What is the rate of change? 


-5 newspapers per block





A)  If Brandon has 20 newspapers left, how many blocks has he traveled.


6 blocks








B)  If he travels 2 blocks, how many newspapers will be left?


40 newspapers








